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= = DV DNV Il = = WDV = TE DY =2l 5
= & 4 .z,né)r Tmb(:f)ﬂﬁ%ﬁ %ﬁé K 4 T‘“{Eﬁ(ﬁfﬂ .;5 %ﬁé R 4 .;,n? J:m(z)@tt.—; jj(:r)uicn?)é R 4 J:ﬁﬁfJ(z)o)ttl—] .;5 jj(:r)uicn?)é
; 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 425 53.15 | FRst | 0oo ~ 425 2.00 10.12 Zh st 1.00 | 6.00 ~ 5.00 53.15 | =nLS | 5.00 ~ 6.00 | 2.00 10.12
2 100kN/mM%#B% % - -~ - —|3mZEBZzZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 557 69.66 | TN | 000 ~ 557|208 10.51 Zh st 1.00 | 6.00 ~ 761 69.66 | TnS | 5,00 ~ 761|208 10.51
100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
J Zh Lot 1.00 | 000 ~ 691 87.52 | #Fnst | 0oo ~ 691 1.93 9.77 Zh st 1.00|6.00 ~ 914 87.52 | #nLS | 500 ~ 914 1.93 9.77
4 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 776 99.66 | FnLs | 000 ~ 7.76 | 2.44 12.54 Zh st 1.00 | 6.00 ~ 1161 99.66 | NS | 500 ~ 1161 2.44 12.34
5 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#B 2 % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 686 86.77 | #nst | 000 ~ 686|267 13.49 Zh st 1.00 | 6.00 ~ 1161 86.77 | NS | 5,00 ~ 1161|267 13.49
6 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s 1.00 | 000 ~ 525 65.50 | #FnLs | oo ~ s525) 221 11.17 ZThLSH 1.00 | 5.00 ~ 827 65.50 | TS | 500 ~ 827|221 11.17
” 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 502 62.62 | TnS | 000 ~ 502|231 11.65 Zh st 1.00| 600 ~ 893 62.62 | ThSN | 5,00 ~ 893|231 11.65
P 100kN/mM%#B% % - -~ - — [3mZEBZB| 000 ~ 026 3.31 16.75 | 100kN/m%E#B 2z % — - ~ — — |3m#%#BZ 3| 1000 ~ 1087 3.31 16.75
Zh st 1.00 | 000 ~ 353 44.63 | TS | 026 ~ 353 5.00 15.16 Zh st 1.00 | 6.00 ~ 1087 44.63 | NS | 5,00 ~ 1000 3.00 1516
9 100kN/mM%#B% % - -~ - — [3mZEBZB| 000 ~ 026 3.31 16.75 | 100kN/m%E#B 2z % — - ~ — — |3m#%#BZ 3| 1000 ~ 1087 3.31 16.75
Zh st 1.00 | 000 ~ 353 44.63 | TS | 026 ~ 353 5.00 15.16 Zh st 1.00 | 6.00 ~ 1087 44.63 | NS | 5,00 ~ 1000 3.00 1516
10 100kN/mM%Z#B% % - -~ - — |3mZE#BZ3| 000 ~ 012|313 15.81 |100kN/m%E#B 2z % — - ~ — — |3m%#BZ 3| 1000 ~ 1213| 3.13 15.81
Zh st 1.00 | 000 ~ 471 58.69 | Fns | 012 ~ 471 5.00 15.16 Zh st 1.00 | 6.00 ~ 1213 58.69 | =S | 5,00 ~ 1000) 3.00 1516
17 100kN/mM%#B% % - -~ - — |3mZE#BZ3| 000 ~ 012|313 15.81 |100kN/m%E#Bz% — - ~ — — |3m#%#BZ 3| 1000 ~ 1213| 3.13 15.81
Zh st 1.00 | 000 ~ 471 58.69 | Fnst | 012 ~ 471 5.00 15.16 Zh st 1.00 | 6.00 ~ 1213 58.69 | =S | 5,00 ~ 1000| 3.00 1516
12 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 665 83.87 | #FnhLust | oo ~ 665|278 14.08 Zh st 1.00 | 6.00 ~ 1273 83.87 | #nLS | 500 ~ 1273) 2.78 14.08
13 100kN/mM%Z#B% % - -~ - —|3mZEBZzZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 665 83.87 | #Fnus | oo ~ 665|278 14.08 Zh st 1.00 | 6.00 ~ 1273 83.87 | #nLS | 500 ~ 1273) 2.78 14.08
14 100kN/m#Z#8Z 5| 1.00 | 000 ~ 019 102.80 |3mEBZZ| — ~ — — — [100kN/M%#BZ 5| 1.00 | 1216 ~ 1273 | 102.80 |3mE#EZB| — ~ — — —
Zh Lot 100|019 ~ 798| 100.00| FnLS | 000 ~ 798| 249 12.59 Zh st 1.00 | 500 ~ 1216 100.00 | NS | 500 ~ 1273 | 2.49 12.59
100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — — [3mZEEBRB — ~ — — —
15 =% 1.00 | 000 ~ 531 66.21 | Ths | ooo ~ 531|293 14.81 FhnLs 1.00 | .00 ~ 1082 66.21 | =nS | 5,00 ~ 1082 293 14.81
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16 100kN/mM%#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#B 2% — - ~ — —[3mZEEBRB — ~ — — —
Zh s 1.00 | 000 ~ 758 97.06 | #FnLst | ooo ~ 758|239 12.06 Zh st 1.00| 500 ~ 1071 97.06 | TN | 500 ~ 1071| 2.39 12.06
17 100kN/m%#8Z 5| 1.00 | 000 ~ 101| 11515 |3mEBZZ — ~ — — — [100kN/ %482 5| 1.00 | 1244 ~ 16.01| 11515 |3m&ERBZB| — ~ — — —
Zh st 100|101 ~ 879 100.00 | FnLS | ooo ~ 879|273 13.82 Zh st 1.00 | 500 ~ 1244 100.00 | ENLS | 5,00 ~ 1601|273 13.82
18 100kN/mM%Z#B% % - -~ - — [3mZEBZB| 000 ~ 003 302 15.28 | 100kN/m%E#B 2z % — - ~ — — |3m#%#BZ 3| 1500 ~ 1650| 3.02 15.28
Zh st 1.00 | 000 ~ 762 97.67 | Fns | 003 ~ 762 5.00 156.16 Zh st 1.00 | 6.00 ~ 1650 97.67 | EnLSY | 5,00 ~ 1500 3.00 1516
19 100kN/m%Z#8Z 5| 1.00 | 000 ~ 073| 110.94 |3mEBZZ| — ~ — — — [100kN/M%#8Z 5| 1.00 | 1292 ~ 1553 | 110.94 |3mEEZB| — ~ — — —
Zh Lot 100|073 ~ 852 100.00| FnLS | 000 ~ 852|278 14.03 Zh st 1.00 | 5.00 ~ 1292 100.00 | NS | 500 ~ 1553| 2.78 14.03
20 100kN/mM%Z#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 1.40 21.44 | Fhs | 0oo ~ 140|279 14.11 Zh st 1.00|6.00 ~ 5615 21.44 | ThUS | .00 ~ 615|279 14.11
27 100kN/mM%Z#B% % - -~ - —[3mZE#BRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 590 73.82 | ThS | 000 ~ 590|217 10.99 Zh st 1.00 | 6.00 ~ 930 73.82 | TS | 500 ~ 930|217 10.99
29 100kN/mM%Z#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#B 2% — - ~ — —[3mZEEBRB — ~ — — —
Zn LS - -~ - — | #h st — ~ = — — TS — — ~ — — | #hiist — ~ — — —
23 100kN/mM%Z#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s - -~ - — | #hiist — ~ = — — TS — — ~ — — | #hiist — ~ — — —
Py 100kN/mM%Z#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s - -~ - — | #h st — ~ = — — TS — — ~ — — | #hiist — ~ — — —
25 100kN/mM%Z#B% % - -~ - —[3mZE#BRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn LS - -~ - — | #h st — ~ = — — TS — — ~ — — | #hiist — ~ — — —
2% 100kN/mM%Z#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s - -~ - — | #hiist — ~ = — — TS — — ~ — — | #hiist — ~ — — —
27 100kN/mM%Z#B% % - -~ - —[3mZEBRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s - -~ - — | #h st — ~ = — — TS — — ~ — — | #hiist — ~ — — —
28 100kN/mM%Z#B% % - -~ - —[3mZE#BRB — ~ — — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s - -~ - — | #h st — ~ = — — TS — — ~ — — | #hiist — ~ — — —
29 100kN/MZ#E 2 % - -~ - — [3mEBZB| 000 ~ 0.02] 3.04 15.36 [100kN/mz8BZB[ —| — ~ — — [3mEBZB| 500 ~ 810 3.04 15.36
Thust 1.00 000 ~ 145| 21.99 | TSt | 002 ~ 145) 3.00 15.16 This 1.001500 ~ 810 21.99 | ThUH | 500 ~ 5.00] 3.00 15.16
100kN/MZ#E 2 % - -~ - — [3mERBZB| 000 ~ 031|339 17.11 |100kN/mi%E#BZ5 —| — ~ — — [3mEBZZ| 1000 ~ 1039] 839 17.11
90 %) 1.00 | 000 ~ 312 39.99 | #nS | 0531 ~ 3512|300 156.16 Fhn s 1.00 | 500 ~ 1039 39.99 | =0t | 5.00 ~ 1000) 3.00 15.16 |
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py 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#B 2 % — - ~ — —[3mZEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 738 94.14 | Fns | 000 ~ 000 1.76 8.91 Zh st 1.00 | 6.00 ~ 964 94.14 | NS | 500 ~ 9564|176 8.91
92 100kN/mM%Z#B% % - -~ - —|3mZEBZzZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 643 80.88 | #nst | 0oo ~ 645) 1.84 9.32 Zh st 1.00| 600 ~ 7.74 80.88 | NS | 600 ~ 774 1.84 9.52
100kN/mM%#B% % - -~ - —|3mZEBZzZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
5 Zn LS 1.00 | 0.00 ~ 0.60 68.27 | #FnLis | ooo ~ oe6o)| 200 10.11 TS 1.00 | 500 ~ 685 68.27 | TS | 5.00 ~ 685 | 2.00 10.11
24 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zn s 1.00 | 0.00 ~ 153 86.62 | #FnhLst | 000 ~ 1.53| 263 13.27 LS 1.00 | 5.00 ~ 1105 86.62 | TSt | 500 ~ 11.05| 2.65 13.27
100kN/mM%Z#B% % - -~ - —|3mZEBZzZ — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEBRB — ~ — — —
95 Zh Lot 1.00 | 000 ~ 150 89.56 | #nLust | 000 ~ 150|263 13.31 Zh st 1.00 | 6.00 ~ 1174 89.66 | NS | 500 ~ 11.74| 2.63 13.81
%6 100kN/mM%#B% % - -~ - —|3mZEB=zB — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 1.33 89.56 | #nLust | 000 ~ 153|263 13.31 Zh st 1.00 | 6.00 ~ 1174 89.66 | NS | 500 ~ 11.74| 2.63 13.81
97 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#B 2 % — - ~ — —[3mZEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 146 89.26 | #ndst | 0oo ~ 146 2.82 14.28 Zh st 1.00 | 6.00 ~ 1493 89.26 | NS | 500 ~ 1493| 2.82 14.28
38 100kN/mM%#B% % - -~ - — |3mZE#BZ3| 000 ~ 031|332 16.78 | 100kN/m%E# 2z % — - ~ — — |3m#%#BZ 3| 1000 ~ 1653| 3.32 16.78
Zh st 1.00 | 000 ~ 202 76.41 | Ths | 031 ~ 202|300 15.16 Zh st 1.00 | 6.00 ~ 1653 76.41 | TS | 5.00 ~ 1000 3.00 1516
99 100kN/mM%#B% % - -~ - — |3mZ#BZ 3| 000 ~ 053] 363 18.34 |100kN/m%E#B 2z % — - ~ — — |3m%#BZ 3| 1000 ~ 1676 | 3.63 18.34
Zh st 1.00 | 000 ~ 214 57.23 | #ns | 0658 ~ 214 5.00 15.16 Zh st 1.00 | 6.00 ~ 1676 57.23 | #FnLSY | 5,00 ~ 1000 3.00 1516
&0 100kN/mM%Z#B% % - -~ - — |3mZE#BZ 3| 000 ~ 053] 363 18.34 |100kN/m%E#B 2z % — - ~ — — |3m%#BZ 3| 1000 ~ 1676 | 3.63 18.34
Zh st 1.00 | 000 ~ 214 57.23 | #nS | 0658 ~ 214 5.00 15.16 Zh st 1.00 | 6.00 ~ 1676 57.23 | LAY | 5,00 ~ 1000 3.00 15.16
41 100kN/mM%#B% % - -~ - — |3mZ#BZ3| 000 ~ 011|310 15.69 | 100kN/m%E#B 2z % — - ~ — — |3m%#BZ 3| 1500 ~ 1693| 3.10 15.69
Zh st 1.00 | 000 ~ 1.92 93.03 | #0111 ~ 1.92] 5.00 15.16 Zh st 1.00 | 6.00 ~ 1693 93.03 | 0S| 5,00 ~ 1500 3.00 1516
42 100kN/mM%Z#B% % - -~ - — |3mZ#BZ3| 000 ~ 011|310 15.69 | 100kN/m%E#B 2z % — - ~ — — |3m#%#BZ 3| 1500 ~ 1693| 3.10 15.69
Zh st 1.00 | 000 ~ 1.92 93.03 | #0111 ~ 1.92] 5.00 15.16 Zh st 1.00 | 6.00 ~ 1693 93.03 | NS | 5.00 ~ 1500) 3.00 1516
43 100kN/m#zi#8z%| 1.00 | 000 ~ o079 111.87 |3mZE#BZDZ| — ~ — — — [100kN/M%#8Z 5| 1.00 | 1277 ~ 1559 | 111.87 |3m&E#BZB| — ~ — — —
Zh Lot 1001079 ~ 1.75| 100.00| FnLS | 0oo ~ 1.75| 276 13.97 Zh st 1.00 | 500 ~ 1277 100.00 | ENhLS | 500 ~ 1559| 2.76 13.97
44 100kN/m%Z#8% 5| 1.00 | 000 ~ 080 121.63 |3mEBZZ| — ~ — — — [ 100kN/M%#8Z 5| 1.00 | 1098 ~ 1563 | 121.63 |3mEEZB| — ~ — — —
Zh Lot 100|080 ~ 158 100.00| FnLS | 000 ~ 1.58| 255 12.87 Zh st 1.00 | 500 ~ 1098 100.00 | ENLS | 500 ~ 1563 | 2.55 12.87
45 100kN/m#Z#8Z 5| 1.00 | 000 ~ 080 | 114.84 |3mEBZZ| — ~ — — — [ 100kN/M%#BZ 5| 1.00 | 1221 ~ 1561 | 114.84 |3mEEZB| — ~ — — —
=% 1001080 ~ 18| 100.00| ThLs | 000 ~ 185|271 13.70 Zhn s 1.00| 6.00 ~ 1221 100.00| ThUS | 500 ~ 1561|271 13.70 |
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% 100kN/mM%#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#B 2 % — - ~ — —[3mZEBRB — ~ — — —
Zhn st 1.00 | 000 ~ 1.37 99.47 | #FN0LUS | 000 ~ 1.37] 2.69 13.67 Zh st 1.00 | 6.00 ~ 1486 99.47 | NS | 500 ~ 1486 2.69 13.57
&7 100kN/m#Zi#8z%| 1.00 | 000 ~ 055 10809 |3mEBZDZ| — ~ — — — [ 100kN/M%#BZ 5| 1.00 | 1360 ~ 1563 | 10809 |3mEEZB| — ~ — — —
Zh Lot 100|055 ~ 153 100.00| FnLS | 000 ~ 153|283 14.30 Zh st 1.00 | 500 ~ 1360 100.00| FENLS | 500 ~ 1563| 2.83 14.30
< 100kN/m#Zi#82%| 1.00 | 000 ~ 055 10809 |3mE#BZDZ| — ~ — — — [ 100kN/M%#8Z 5| 1.00 | 1360 ~ 1563 | 10809 |3mEEZB| — ~ — — —
Zh Lot 100|055 ~ 174 100.00| FnLS | 000 ~ 1.74| 283 14.30 Zh st 1.00 | 5.00 ~ 1360 100.00| FNLSN | 500 ~ 1563| 2.83 14.30
49 100kN/m#zi#82%| 1.00 | 0ooo ~ o7 11609 |3mEBZDZ — ~ — — — [ 100kN/M%#8Z 5| 1.00 | 11.68 ~ 1519| 116.09 |3mEEZB| — ~ — — —
Zh Lot 100|070 ~ 167 100.00| FnLS | 000 ~ 167|265 13.40 Zh st 1.00 | 500 ~ 1168 100.00 | FENLS | 500 ~ 1519 2.65 13.40
50 100kN/m#zi#82%| 1.00 | 000 ~ 140| 121.21 |3mEBZDZ| — ~ — — — [100kN/Mi%#8Z 5| 1.00 | 1072 ~ 1519 | 121.21 |3m&E#BZB| — ~ — — —
Zh Lot 100|140 ~ 918 100.00| FnLS | 000 ~ 918|249 12.66 Zh st 1.00| 500 ~ 1072 100.00 | TNLS | 500 ~ 1519| 2.49 12.56
51 100kN/mM%#B% % - -~ - —|3mZEB=zB — ~ - — — [100kN/MZE#BZ % — - ~ — —[3mZEEBRB — ~ — — —
Zh Lot 1.00 | 000 ~ 731 93.15 | #Rdst | 0oo ~ o000 1.70 8.569 Zh st 1.00 | 6.00 ~ 950 93.15 | 0S| 5,00 ~ 960 | 1.70 8.69
52 100kN/mM%Z#B% % - -~ - —|3mZEB=zZ — ~ - — — [100kN/MZE#B 2 % — - ~ — —[3mZEBRB — ~ — — —
Zn s 1.00 | 0.00 ~ 680 8594 | #FnLst | 0.oo ~ o000 1.66 837 TS 1.00 | 5.00 ~ 854 85.94 | TSt | 500 ~ 854 1.66 837
100kN/mM%#B% % ~ ImEHEAD ~ 100kN/mMZ#B 2% ~ ImEBZD ~
Zn LS ~ TS ~ TS ~ TS ~
100kN/mM%#B% % ~ ImEHEAD ~ 100kN/mZ#BZ % ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%#B% % ~ ImEHEAD ~ 100kN/mMZ#B 2% ~ 3ImEBZDS ~
Zn LS ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mMZ#B 2% ~ ImEBZD ~
Zn s ~ TS ~ TS ~ TS ~
100kN/mM%#B% % ~ ImEHEAD ~ 100kN/mMZ#B 2% ~ ImEBZD ~
Zn LS ~ TS ~ TS ~ TS ~
100kN/mM%Z#B% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZD ~
ZhnLst ~ Zh LS ~ Zhst ~ Zh LS ~




